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B.Com. (Part - II) Examination, 2022
(New Course)

(Group-II) Business Management
PAPER FIRST

COST ACCOUNTING

Time : Three Hours] [Maximum Marks:75

 


Note :Attempt all the five questions. One question
from each unit is compulsory.  All questions
carry equal marks.

1 / Unit - 1

1.  



P.T.O.
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"Cost Accounting is a branch of financial Accounting
and it has been evolved to do away the limitations of
financial accounting and to meet the needs of man-
agement." Comment.

 / OR



  

  

  

  A B 

  A - 3

B - 2



 

 

 

 
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A and B components are used as follows:

Normal usage : 10 units per week of each

Minimum usage : 5 units per week of each

Maximum usage : 15 units per week of each

Re-order Quantity : 'A' 60 units 'B' 100 units

Re-order period : 'A' 3 to 5 weeks

'B' 2 to 4 weeks

Calculate for each components the following levels :

1. Re-order level

2. Minimum level

3. Maximum level

4. Average stock level

2 / Unit - 2

2.        



Discuss the various methods of absorption of factory
overheads. Under what conditions, it is said to be over-
absorption factory overheads?

P.T.O.
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 / OR

 


%



What earnings will a workman receive under Halsey
scheme and Rowan scheme if he executes a piece of
work in 60 hours as against 75 hours allowed? His
hourly rate is ̀ 2 and he is paid 50% of the time saved
under Halsey Plan. He gets a dearness allowance of
`8 per hours worked in addition to his wages.

3 / Unit - 3

3. 


   

` ` `

   

   
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   

   

   

   


%


Following are the elements of cost of production of a
factory for three years:

Particulars 2017 2018 2019

` ` `

Materials 90,000 60,000 1,20,000

Labour 40,000 35,000 45,000

Works overhead 25,000 24,000 26,000

Administration
overhead 10,000 10,000 10,000

Selling overhead 12,000 10,000 8000

Output (in ton) 6000 4000 8000

On the basis of data given above prepare an estimate
for 10,000 ton to be produced in 2020 profit of 10%
on final cost will be sufficient.
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 / OR




 

 

 

 

       %   







%


A Firm of building contractors began to trade on 1st

April 2021. The following was the expenditure on the
contract for `3,00,000
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Materials issued to contract `51,000

Plant used for contract `15,000

Wages incurred `81,000

Other expenses incurred `5,000

Cash received on account to 31 March 2022
amounted to ̀ 1,28,000 being 80% of the work certi-
fied of the plant and materials charged to the contract,
plant which cost `3,000 and materials which cost
`2,500 were lost. On 31st March 2022 plant which cost
`2,000 was returned to stores, the cost of work done
but uncertified was `1000 and materials costing
`2,300 were in hand on site. Charge 15% deprecia-
tion on plant reserve 1/3 profit received and prepare
a contract account from the above particulars.

4 / Unit - 4

4. 


%
5%%

          


P.T.O.
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
  







  

   

   

   







  


The product of a company passes through three dis-
tinct processes to completion. They are known as A,
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B and C from past experience it is ascertained that
wastage is incurred in each process as under:

Process A 2%, process B 5%, process C 10% in each
case the percentage of wastage is computed on the
number of units entering the process concurred. The
wastage of each process a scrap value. The wastage
of process A and B is sold at Rs. 5 per 100 units and
that of process C at Rs. 20 per 100 units. The output
of each process passes immediately to the next pro-
cess and the finished units are passed from process
C into stock.

The following information is obtained:

(Process A)(Process B) (Process C)

Materials
consumed 6,000 4,000 2,000

Direct labour 8,000 6,000 3,000

Manufacturing
expenses 1,000 1,000 1,500

20,000 units have been issued to process A at a cost
Rs. 10,000 the output of each process has been as
under:

Process A 19,500, process B 18,800, process C

P.T.O.
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16,000. There is no work-in-progress in any process.
Prepare process accounts and the calculation should
be made to the nearest rupee.

 / OR

      




What is meant by 'operating costing'? In which indus-
tries is it used? prepare a transport operating cost
sheet with imaginary figures and discuss the various
items included in it.

5 / Unit - 5

5. 

 

 

 

 
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 



  

  

   

Calculate the following from the information given be-
low:

1. Profit volume ratio

2. Fixed cost

3. Margin of safety for 2021 and 2022

4. Break-even  point in Rs.

5. To earn profit of Rs. 10,000 Sales value and mos.

Information:

Year Sales (Rs.) Profit/Loss (Rs.)

2021 25,000 5,000 (Loss)

2022 75,000 5,000 (Profit)

P.T.O.
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 / OR


         


What do you understand by Integrated account? What
are its essential features and principles? State the
advantages of integrated accounts.


